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QUESTION 1

A customer would like to implement an OLTP application using their Hitachi NAS Platform 3200. The Hitachi NAS
Platform is connected to a Hitachi AMS2300 with SAS drives. They want to achieve maximum performance.
Considering the queue depth limitations on the Hitachi NAS Platform and Hitachi AMS2000 family, what is the maximum
number of active LUNs that must be assigned on each AMS port?

A. 16

B. 32

C.64

D. 128

Correct Answer: A

QUESTION 2

A customer has configured two LAGs on their Hitachi NAS Platform 3090 cluster. EVS A uses agl and EVS B uses ag2.
In which case does EVS A failover?

A. The SMU quorum service is stopped.
B. All the EVS B file systems go offline.
C. All the GbE ports go offline from ag1l.
D. The cluster interconnect goes offline.

Correct Answer: C

QUESTION 3

A customer would like to implement network load balancing from a Hitachi NAS Platform node to a single Ethernet
switch. Which network technology is required?

A. Hot Standby Router (HSRP)

B. Link Aggregation (LAG)

C. Link Aggregation Control Protocol (LACP)
D. MPIOX

Correct Answer: B

QUESTION 4
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The administrator of a Hitachi NAS Platform wants to automate the replication of a directory called "Finance" within the
file system called "accounts". Other data in this file system should not be replicated. Which product should be used to
achieve this?

A. Hitachi TrueCopy (TC)

B. Hitachi Universal Replicator (HUR)

C. Incremental Data Replication

D. Data Migration

Correct Answer: C

QUESTION 5

A customer wants to migrate LUNs used by a Hitachi NAS Platform between tiers of storage in a Hitachi VSP. They also
want to migrate between the VSP and a Hitachi AMS storage system attached as external storage to the VSP. Which
feature controls the migration?

A. the AMS volume migrator

B. the Hitachi NAS Platform data migrator

C. the Hitachi Tiered Storage Manager server

D. the VSP cross-system copy

Correct Answer: C
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